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e Please check that this question paper contains 12 printed pages.

e Code number given on the right hand side of the question paper should be written on the
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e Please check that this question paper contains 27 questions.
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e 15 minute time has been allotted to read this question paper. The question paper will be
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General Instructions :

59/2

(i)
(it)

(iii)

(iv)

v)

(vi)

(vii)

All questions are compulsory.

Questions number 1 — 5 are of one mark each. The answers to these questions

should not exceed 20 words each.

Questions number 6 — 10 are of two marks each. The answers to these questions

should not exceed 40 words each.

Questions number 11 — 16 are of four marks each. The answers to these questions

should not exceed 100 words each.

Questions number 17 — 21 are of five marks each. The answers to these questions

should not exceed 150 words each.

Question number 21 is a map-based question. Write its answers in your answer-
book.

Questions number 22 — 27 are of six marks each. The answers to these questions

should not exceed 150 words each.
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1. TAGR JoctvYTE UeH o JEl O WA T § ToaTSi o foretd e g3t 7 1

How were the princely states integrated into Indian Union with the efforts of Sardar
Vallabhbhai Patel ?

2. 9% dF H gud o Wil 1 s | 2 1

What does hide strategy imply within the hegemonic system ?

3. 1960 % gk H, 3THRIehT TR HifeRrd T | IF it € Hewyul i W kel gl ? 2 x %=1

In the decade of 1960s, which two significant agreements were signed by the US and
the USSR ?

4. IATTCY o HHA, HIH UTET 1 “Th AU FTHIST TSEY T hal T 7 1

By the time of Independence, why was the Congress Party called a ‘rainbow-like’

social coalition ?

5. sfaem™ <l gad §€ TS A’ fohE et T 7 1

What was called ‘the largest garage sale’ in history ?

6.  ToeprasiicT <ot sl TSI TIeiehict shl STEAATS & W<h 91 T@T 731 T 7 2

Why were developing countries exempted from the requirements of the Kyoto

Protocol ?

7. STHAM R ALIERAT o HIeAH § &51% Gou] ol THTH i & his el 3@ fafEy | 2 x 1=2

Write any two examples of ending regional conflicts through mediation by the
ASEAN.

8.  ‘anfam oeft’ whr 31k wrw HifT | 2
Explain the meaning of the ‘ASEAN way’.

9.  ITvarHl 3R yromeff % s 37 o Ty HIfY | 1+1=2

Differentiate between a migrant and a refugee.
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10.

11.

12.

13.

14.

15.

16.

59/2

IR 3T T ™ o & 1965 T g 8 o J&T RV sl ITFR HIAT |

Highlight the main reason behind Indo-Pakistan War of 1965.

1975 T UER ATATdehRT shl BT i o ThR gRT fet T e o1 fergersor Hifsr |

Analyse the reasons given by the Government for declaring a National Emergency in
1975.

1995 T 9RA = HT[-3THER G (T, 9. 3.) 1 AfTaa wat & e sgm @ oty
i fopa 7

Why did India oppose the indefinite extension of the Non-Proliferation Treaty (NPT)
in 1995 ?

T WA o U8l i 3T ATl H, HHE b T b foTq IR SHehi 1 fawersor
e |

Analyse the factors responsible for the Congress dominance in the first three general

elections in free India.

TATE AT 6% <hl T oh STE STk ST TR 1 AN 3T TN HITT |

Examine the challenge of political succession after the death of Jawahar Lal Nehru.

TS T o S I TSHITeh el o sfie IWAT TEATT o fohral o el b1 AUH
HIT |

Describe any four issues on which a broad consensus has emerged among most

political parties of India during the coalition era.

el wifts ol ThRIcHe: dic T hal AT & 7 &1 1Sl JUITed] <hl THTH hT ST =118y A1

=

& ? U I & U T I b ST | 2+2=4

Why is Veto power called a negative vote ? Should the Veto system be abolished or

not ? Support your answer with suitable argument.
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17. = feU TT ST s egEeh STERE hiRT TR 36 T 3METia Jei & ST foRaw :

“ard <t e - frerar i ifd 7 @ TeRrreaes ot 3 7 & Ffska i | ura haggeeta
gfigfen <l Tehg i dieft A & fotu STRigE amet § |fsh €9 8 g&qad i & a1 §
o1 | B il % 7a H, - Fdemar S8 var siaigia er sned Té S Wi % aredfoeh
fedl @ oo 72 @1 | F9 @1 98 g Tob Te- ey gfEshivn 3 68 alishi & WRa 1 e |men 3 |
Tadl 3R, AR ol e -Trderr bt Hifd 1 st i 63 AT /A TR 1" 1+2+2=5

(i) gt sfekdl & o= fedh e W god %1 Seem e st e 3
HETEAAT SHlch g i TTel bl I17d FRT 2T |

(i) Te-TFruer = fopd g1 alieh] & WRAT fadi sl qan g ?
(iii) R T Te-Teran st fifd & foreg ST o Rl g1 feigaTl H1 IR HIT |

Read the following passage carefully and answer the questions that follow :

“India’s policy of non-alignment was neither negative nor passive. India was in
favour of actively intervening in world affairs to soften Cold War rivalries. Non-
alignment was not, as some suggest, a noble international cause, which had little to
do with India’s real interests. In fact, a non-aligned posture served India’s interests in
many ways. On the other hand, India’s policy of non-alignment was criticized also on
a number of counts.”

(1) Give any one example of a conflict between the Cold War rivals where India
mediated to soften the warring factions.

(i) In which two ways did Non-alignment serve India’s interest ?

(i11)) Highlight any two points of criticism against the India’s policy of non-
alignment.

18.  “3ATUTAhRTS 3T $Hb ITHUTY hi (Y ol BH AT Fehe i 3@ & &9 4 ff a@
Tehdl & FIToh SRR & i et TS HAGTHH Y STATTRIA o T | o7 | Gl T
g TSHITh Hehe T HY SR o1 | FaTemt arét < e qu sigwa o1 | fe off, 38k g A
AT bl 3 HTA T AT fohaT | W Giae o Fmiarstt i favamd on fos ot
TSHIeh €1 ATk HFehl ol ITe il | 3= I8 o favama o o6 smuraesre <
feurfa o oft IR 3Tot Sremaer wifri b1 seauTer fafer o SmEe % gRR § Ed g A
Haft |7

FHR Teu 7T ST T S ST Hifore qeun i fou T et % I fofa

(i) HIenfres e, ThR % fobe Q1 3171 o o= o ?

(i) 1975 T SATUTAHTA ST HL S IS Gl HRUT T HITT |

(i) STTATARTE o G g8 foheail qf ST ohl ISR HIFT | 5
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Study the passage given below carefully and answer the questions that follow :

“The Emergency and the period around it can be described as a period of
constitutional crisis because it had its origins in the constitutional battle. On the other
hand, it was also a period of political crisis. The party in power had absolute majority
and yet, its leadership decided to suspend the democratic process. The makers of
India’s Constitution trusted that all political parties would basically abide by the
democratic norm. Even during the Emergency, when the government would use

extraordinary powers, its use would be within the norms of the rule of law.”

(i) The constitutional battle was drawn between which two organs of the

government ?
(1)) Explain any two reasons that led to the imposition of emergency in 1975.

(ii1)) Highlight any two excesses that took place during emergency.

19. @ o S IH-HM Wied 9, YA 3 30 § foret b T oA | dSfiand) wisw §
forehTet %1 T BIAT & | WA A 98 TRT el 3T/ | WIRA A fohr| 1 aursandt wisa ot
TE TR | 3 M1 & Hige shl $© Th o1l o1 o forar e 3 31 o o 378 fret S
w9 1 AN fopam T | g hrer wRed e i fufid - sreierawen’ e AT ® |
Wet-frar, samar 3 3T o1 Tk ST Wi fAsh & o g1 | @I | U F 30 g H
I I I T@T 3TN 3T MU Sr<1 JGH fohall | TsF = SR 1 Fm fomam 3R
Y &1 H 59 9 gEiE fohy |1”

FHR feu T SraaEr i ermyds ufen aun frefaRad yeEt o I T

(i) Toepa o dSfaTe) Hige i gmom w1 T8 HIfT |

(i) TorehTE & TUTSETC) Aige 6t g foeiwar i AR HIfT |

(i) WRd g A T faeA-Foi wiee 6l Aretreqt % foheal v feigai st =
SHifSu | 1+1+3=5
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Study the following passage carefully and answer the questions that follow :

“India did not follow any of the two known paths to development — it did not
accept the capitalist model of development, nor did it follow the socialist model.
Elements from both these models were taken and mixed together in India. That is
why it was described as ‘mixed economy’. Much of the agriculture, trade and
industry were left in private hands. The state controlled key heavy industries,
provided industrial infrastructure, regulated trade and made some crucial
interventions in agriculture.”

(1)  Explain the concept of the capitalist model of development.
(1)) Highlight the main feature of the socialist model.

(i11)) Explain any three points of criticism against the mixed model adopted by India.

20.

ARES. =S

Wwww caglecanoons com

FHR feu 7T A 1 ergdeh 3rerE hife qen Frefafad yei s sm fafaw: 1+2+2=5
(%) wEar! sfers &fe fora e 1 wfaffrea ar g 2

(@) 3Eehl af W fafim oo & for@ guami e Hea 8

(1) 39 HIgA U DI AT HEUl Hewl A w8 7
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Study the cartoon given below carefully and answer the questions that follow :

(a) The mighty soldier with a weapon represents which country ?

(b) What is the significance of the names of various countries written on his
uniform ?

(c) What important message does the cartoon convey ?

e : Tmfafaa wor e gidenfea et o foTe o7 @ 20 WA R

20.1 ‘=’ <t gieamn faRe |

20.2 &= SEET TUT e doedl H 3T T8 HIT |

20.3 3THLeh! SEa <h foheal g1 sl sl T8 HifT | 1+2+2=5

Note : The following questions are for the visually impaired candidates only in lieu
of Q. No. 20 :

20.1 Define ‘hegemony’.

20.2 Differentiate between the hegemony of hard power and hegemony of soft
power.

20.3 Explain any two constraints on the American hegemony.
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21.

59/2

Y ~ .

feu T vra % Tefae War-amtaE 8 i a9 A), B), (©), (D) a2 (E) gr et /&
2 1 37 Tl T o Tmior 1956 % awaTd 831 | 9 € T AehRT <l wEat F, 3 Ui
! TESTHT qAT 37 HaT 719, TINT bl T8 STHehR] bl shH HEAT AT Teferd &R i, {0
@ 7TE qTfoteht o €9 T 379 IR gfecent ¥ foiRaw :

TR Sl TS BRI e 31§} TS &1 91
=1 | TE&
(i)

(ii)

(iif)

(iv)

)

() TETSTIY 1966 | & |

(i) 39 UST a9 1987 H ST |
(iii) I8 TST 9 1960 H ST 74T |
(iv) I8 TST 99 2000 | ATEdea T 37T |
(v) 3ETSTHI Y 1972 H SHETTR |

C1



59/2

In the given outline political map of India, five states have been marked as @, ,

@, @ and @ All these states were created after 1956. Identify them with the help

of the information given below and write their correct names in your answer book
along with the serial number of the information used and the concerned alphabet
shown in the map as per the following table :

Sr. No. of the Alphabet concerned Name of the State
information used

(1)
(ii)
(i)
(iv)
)
(1)  The state came into existence in the year 1966.
(1i1)) The state was created in the year 1987.

(ii1)) The state was created in the year 1960.

(iv) The state came into being in the year 2000.

(v) The state was created in the year 1972.

10
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e : Frfefad o hac giEaTia wieamfeR @ fore Jom T@n 21 F _HE W E

21.1 TST QT SRR SAfufem e aiied g3t ?

21.2 1956 H TST YIS 3TN gRT fohae Tt qer fepaat Shg Smfdra wewmt o1 T+ fopam
™ 7

21.3 IqHH H, YA § ferd T= qe ferd g snfed wewr 8 7 1+2+2=5

Note : The following questions are for the Visually Impaired Candidates only in
lieu of Q. No. 21.

21.1 When was the States Reorganisation Act passed ?

21.2 How many States and the Union Territories were created by the States
Reorganisation Commission in 1956 ?

21.3 How many States and the Union Territories are there in India at present ?

22, 1997 % dT¢ G UY o ACH gRT YL IREE ol TARM 1T IARN Tge o+ o T
EaTtad fehal ©: TMeuel ol T8 T | 3+3=6
e
T <hl ITIRITEh TRON % Sl HIardT shi GLaT qer Afvass guer st =xmen ik |

Explain any six points of new criteria for becoming a permanent or Non-permanent
member of Securing Council as proposed by members of UN since 1997.
OR

Explain non-traditional notions of human security and the global security.

23. I G o fehedl oiF @l qe i gif bt e hife | 3+3=6
3T
el A o foeg 3Em | 1979 W 1985 T U 3M=gIe hi feheal =R farrwarati w1 aui
HIfT |

Describe any three advantages and three disadvantages of popular movements.

OR

Describe any four features of movement in Assam against outsiders from 1979 to
1985.

24. 1989 % U¥ETd, YR TSHITd § HTT fohegl 9TR J&T SeeTdi o faveiuu il | 4 x 1% =6

YT

1985 # gU, TSfa e -Aimiaret THeid o &I TEEHT 1 aeer S | 9o § wifd
FETeA % 1T o1 Twsiiar sl de T g7 7 TE HIfT | 4+2=6
Analyse any four major developments in Indian politics after 1989.

OR
Examine the main provisions of the Rajiv Gandhi-Longowal Accord of 1985. How
far was the Accord successful in bringing back normalcy in Punjab ? Explain.
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25.  wteRur e} fopegl i AEe T WA o 987 kT fogeiwor HifSu | 3x2=6
3T
TR h TSHITcreh RO kT fergeiwor shifsg | 6

Analyse India’s stand on any three environmental issues.
OR
Analyse political consequences of globalization.

26. < o e TG | Jhg F el FUSET T & T =4 % A §RT 3BT T fehea]
IR HeHl 1 JUMH HIFAT | 6
YT
R 3T UTiehT b s foramg o feredl = gei o1 i <hife |

Describe any four steps taken by Chinese leadership to make it a fastest growing
economy.

OR
Describe any four issues of conflict between India and Pakistan.

27. “Hifodd €9 % e o qv=Td, AT 3l °H § €9 o H1Y, WA o 99 qa8 Holegqa
R 8 |” IS A ITTET0T <o HH <hi gfY Hifre | 3x2=6

YT

9 AL Mfeh aEAT (TH.37E.3.37. ) hl 9RO 1 97 Ky g3 7 1972 H 379
fopfra <ol b1 @9 UgEH % fow, Siere (FuEHA T ElL) g ®F ¥ W) guR
ST feRT 7T ?

“Among the post-Communist countries after the disintegration of the Soviet Union,

India’s relations with Russia have been the strongest.” Support the statement with any
three examples.

OR

How did the idea of a New International Economic Order (N.I.E.O) originate ? In
1972, which four reforms were proposed by UNCTAD to benefit the Least
Developed Countries’ (LDCs).

59/2 12 C1



